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x=-2 5 t¢otd
"(-4+a)=4",-4+a=1
La=95
b=2a-4Xb=6
La+b=11




48.

A2 (x41)2 02 gl o, 2|9

@® 100x + 101 @ 100x - 99 (@)—100x -99

@ -99x - 98 ® 99x + 100

~&B

o= UWHAE ax + bt obdA
X100 = (x+1)2Q(x) + ax+ b
KOS x+ 18 WEH YA = 10]22
200 = (x+1)20(x) +a(x+1)+1 (=a+1=0b)
-1 = (x+ Di(x+1)Q(x) +a)
(¥)%° 1= (x+ D{(x+ 1)Q(x) +a)
(x2 - 1){
= (x+ {(x+1)Q(x) + a}
+ 1) (x = {0 4+ (x2)8B + -+ x2 + 1)}
= (x+1{(x+1)Q(x) + a}
—DIE)P0+ (B + -+ 2+ )= (x+ 1)Q(x) +a
FH x = -1 Y5t
(F-1-1)(1*®+1¥ +... 41+ 1) =a
a=-100,a+1=blA b =-99
STk U A= -100x - 99




49.

() B 222 e 32 oW

UMz ax + b} 5

f(x) =x*Q(x) +ax+b

{f(x)}3 = {x?Q(x) + ax + b}3

o] A& x2P(x) + (ax + b)3 o]2} ofH
{f@)}’ & 2 202 i oA

(ax+ b2 02 Use UM} ZgoBm
(ax + b)? = a®x + 3a*bx® + 3ab*x + b3 | A
3ab’x + b3 = x+1

wo3ab? =1, b =1

1
2 a= = p=1l
4=3

X
b=-+1
ax + 3+




50. 9] Al7h 1 Q1 ARG f(x) ol kel f(1) = 1, £(2) =
2, f(3) = 30] AT ol W, f(x) & x-4 2 He YA E?

© 9 )10 ® 11 ® 12 ® 13

B

f)=1,£2)=2,f3)=3°A f(x) =x

Z f)-xEx-1,x-2,x-3 & A2 3},
fx)—x=(x-1)(x-2)(x-3)

)= (-1 (x-2)(x-3)+x, f(4) =10

x3 +ax? 4+ bx +c 2 o

)=1=a+b+c+1=1

(2)=2=4a+2b+c+8=2

(3)=3=9+3b+c+2n=3

o] Aale ARt 29,
=-6,b=12,c = —6

= f(x) = x> -6x>+12x-6

L f(4) =43 —6x42+12x4-6=10

f(x)
(1)
(i)

1)

(1ii

L x>




